EAGRAROBREERT — 2 N— IBISH —F

202156850 (+) 4m+=1H

BLiY =25 c3 v5%3®tE @R () A% E Y
[A&4£] 1 7 41,000,000  ~ 2 3% :16,000,000 @ 3 37 :10,000,000 @ 4 3 :6,200,000 @ 5 & :4,100,000 M
BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
- . = . IRHHEE :00. -1-1- . . EKEFA (ER)
®1=a—>S514> 5 s 2(0_0)7 1-1-1-1 | 34.1|112.3| 8 353) e R W
A:No Nay Never £#:Muravka Desert Star Phoen
S Sy R L R — :01. -0 . . WTFRLT (EXR)
S 2PN ¢ e zos | 2ee2 sl s e R
R:x LTINS BN T4 F NSRS
=, e 6 | AHEH 2:01.4 8-9-9-8 |34.0|104.8| 5 548 | KTTIETE (i)
TJ7ART2E-ZR % 57.0 (3/4) o) |BREHILS
LN—E>Tv— BEYLLIILTUE-ZX J =Y Tr—L
SIS, T o7 | =R 2:01.6 8-8-9-8 |34.2|102.5| 7 492 | WIFEH (RR)
NIVTTFA b 57.0 ) 6 | ) G1L=v>7
LN—E>Yrv— BiAUIL hFr—L ERT7—L
o R WERS . 44~ PAIE
T4 TF 4T —X 4 6 5/8% 2(/(\);_? 4-4-4-3 | 34.5|101.3| 12 32) EB&&@%ﬁ‘E%i)
RiFATATv— BFIFHETY HET 7 — L
s T # 6 | RERER 2:01.7 8-9-4-8 |34.3|101.4| 1 472 | BREE (ER)
6|8|13| ¥ LA KT b 56.0 (172) o | Ao
L:Tw TRy b BT R4V F R RBIS
. i+ 6 | JIIETHE 2:01.7 —4-7- . . BT (EH)
7157 | ¥ b/ vvaz [B] g 56.0 (7¥) AR Rl At :?g) () RS A2 /5=—
L:FA—TANT N BTFATRTrydas J—HrTr—L
= _ 5o 4 5 | HAILEAF 2:01.7 2-2-2-3 |34.6| 99.5 | 4 506 | iIERE (3ER)
7i211|77-Ya7IT 5.0 (1) v | B Fvoyhoron
x> ThANXN B:TVa1E— J=HTy—LI
= # o5 | K& 2:01.7 4-4-7-5 | 34.5[100.6| 6 492 | REREE (ER)
9/5|6|7777A 56.0 () (+4) kT
R TAANAN BG4Iy —F J—HrTy—LA
S . 9 BEEEX :01. -12-13- . . FEEER (ER)
10 o | PTUHLT—I R > 6 e 2(30/14)9 12-12-13-13| 34.2 | 99.3 | 11 (4::) RS (%
R:ZFAT—ILK B: TVt F—L— - JvIS> - 77— LERE
R O 4 5 | BKHE— 2:02.0 11-11-9-11 | 34.5| 98.2 | 2 474 | BEESEE (FH)
11 9lEX Ry RZALX 560 (3/4) -4y |EBRSHZLY
RN—E>Tv— B:vN—N—-5% J=HrTy—L
cFF K v K 4 6 | EHBE 2:02.6 12-13-9-12 | 35.0 | 88.6 | 10 486 | REE (ER)
12[7]10| XTZF KX =F v K 5.0 3 1/2) e |BlI—Z
R:T7—7T4—-Z B:NRTFRE/ N [Ea=Fier]
Q- w7 | EANEH 2:03.2 4-4-4-6 |35.9| 76.1 | 13 | 454 |BEHEZ (RR)
13)8[12| 7* U AXA»T 0 (3172 (o) | BHER
RNy ALHTT BRAZIFA B HET7— L
@ 71 L
) 45.6-34.1
Na>a24 4L | 13.1-11.9-13.0-12.6-12.3-12.2-11.5-11.1-11.1-11.9
® I —F—@EBIERL
13=7r= 3(8,11) (5,6,7,12) (1,4,13)9(2,10)
Pol=5r= 3(8,11) (5,6,7,12)4(1,13)9,2,10
3a—7+— 3(8,11) (5,12,13) (6,7) (1,4,9,10)2
40—5+— | 3-8(5,11)6(7,12) (1,4,13)9,10,2
[ RN
B OB 3 2,060 714K 3-8 3,660 e & 3-6 5,420M 3ER 1-3-8 89,010
8 B 3 680F 1-3 3,910 B & 3-8 18,420M 3B 3-8-1 635,640
8 610M 1-8 4,410 B H 3-8 36,430
1 430M

ARICOVWTRDTEEERROODE. TR LIV,




